| Number of Supplier participated: | 5                          |   |              |             |                 |                        |                     |
|----------------------------------|----------------------------|---|--------------|-------------|-----------------|------------------------|---------------------|
| Awarded                          | Supplier                   | Event - Lot Title   | Bid Quantity | Price (SGD) | Total Bid (SGD) | Awarded Quantity (SGD) | Awarded Spend (SGD) |
| Yes                              | O'meteor Singapore Pte Ltd |   |              |             |                 |                        |                     |
|                                  |                            | Design and produce EEE UG brochure individual interactive PDFs with   |              |             |                 |                        |                     |
|                                  |                            | hotspots that link to URLs, videos, pop-up features   |              | 220.00      | 2640            | 12.00                  | 2640                |
|                                  |                            | Print production for EEE UG brochure (12 Pages)   | 4000         | 0.80        | 3200            | 4,000.00               | 3200                |
|                                  |                            | Option (At NTU's option to award): a. Design, layout, copywriting/editing cost  | _            |             |                 |                        |                     |
|                                  |                            | for every additional 4 pages per brochure.  | 7            | 600.00      | 4200            | 7.00                   | 4200                |
|                                  |                            | Design and produce MSE UG brochure individual interactive PDFs with   | 0            | 000.00      | 4700            | 0.00                   | 4700                |
|                                  |                            | hotspots that link to URLs, videos, pop-up features   | 8            | 220.00      | 1760            | 8.00                   | 1760                |
|                                  |                            | Design and produce CoE UG brochure in interactive PDF format with hotspots  |              | 220.00      | 2640            | 12.00                  | 2640                |
|                                  |                            | with hotspots that links to URLs, videos, pop-up features.  | 12           | 220.00      | 2640            | 12.00                  | 2640                |
|                                  |                            | Design and produce CCEB UG brochure into individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features      | 20           | 220.00      | 4400            | 20.00                  | 4400                |
|                                  |                            | hotspots that link to ORLS, videos, pop-up reatures   | 20           | 220.00      | 4400            | 20.00                  | 4400                |
|                                  |                            | Design and produce SCSE UG brochure individual interactive PDFs with  | 24           | 220.00      | 5280            | 24.00                  | 5280                |
|                                  |                            | hotspots that link to URLs, videos, pop-up features<br>Print production for CEE UG brochure (20 Pages)                                |              | 1.06        | 5280<br>4240    | 24.00<br>4,000.00      | 5280<br>4240        |
|                                  |                            | Print production for COE UG brochure (12 Pages)   |              | 0.80        | 3200            | 4,000.00               | 3200                |
|                                  |                            | Print production for MSE UG brochure (08 Pages)   | 4000         | 0.67        | 2680            | 4,000.00               | 2680                |
|                                  |                            | Print production for MAE UG brochure (16 Pages)   | 4000         | 0.93        | 3720            | 4,000.00               | 3720                |
|                                  |                            | Design and produce MAE UG brochure individual interactive PDFs with   |              |             |                 |                        |                     |
|                                  |                            | hotspots that link to URLs, videos, pop-up features   |              | 220.00      | 3520            | 16.00                  | 3520                |
|                                  |                            | Print production for CCEB UG brochure (20 Pages)  |              | 1.06        | 4240            | 4,000.00               | 4240                |
|                                  |                            | Print production for SCSE UG brochure (24 Pages)  | 4000         | 1.19        | 4760            | 4,000.00               | 4760                |
|                                  |                            | Option (At NTU's option to award): b. Printing cost for 4,000 copies of every   | _            |             |                 |                        |                     |
|                                  |                            | additional 4 pages per brochure.  | 7            | 620.00      | 4340            | 7.00                   | 4340                |
|                                  |                            | Option (At NTU's option to award): d. Unit cost of Stock Image.   | 20           | 50.00       | 1000            | 20.00                  | 1000                |
|                                  |                            | Design and produce CEE UG brochure individual interactive PDFs with   |              |             |                 |                        |                     |
|                                  |                            | hotspots that link to URLs, videos, pop-up features   | 20           | 220.00      | 4400            | 20.00                  | 4400                |
|                                  |                            | Option (At NTU's option to award): c. Printing cost for special finishing (Spot   | -            | 700.00      | 5.400           | 7.00                   | 5400                |
|                                  |                            | UV or hot-stamping) on front cover for every 4,000 copies per brochure.   | 7            | 780.00      | 5460            | 7.00                   | 5460                |
| No                               | PURE DESIGN PTE. LTD.      |   |              |             |                 |                        |                     |
|                                  |                            |   |              |             |                 |                        |                     |
|                                  |                            | Design and produce EEE UG brochure individual interactive PDFs with   |              |             |                 |                        |                     |
|                                  |                            | hotspots that link to URLs, videos, pop-up features   |              | 1,560.00    | 18720           | 0.00                   | 0<br>0              |
|                                  |                            | Print production for EEE UG brochure (12 Pages)   | 4000         | 4,180.00    | 16720000        | 0.00                   | 0                   |
|                                  |                            | Option (At NTU's option to award): a. Design, layout, copywriting/editing cost  | 7            | F 460 00    | 20220           | 0.00                   | 0                   |
|                                  |                            | for every additional 4 pages per brochure.  | 7            | 5,460.00    | 38220           | 0.00                   | 0                   |
|                                  |                            | Design and produce MSE UG brochure individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features            | 8            | 1,040.00    | 8320            | 0.00                   | 0                   |
|                                  |                            |   |              | 1,040.00    | 0020            | 0.00                   | v                   |
|                                  |                            | Design and produce CoE UG brochure in interactive PDF format with hotspots with hotspots that links to URLs, videos, pop-up features. |              | 1,560.00    | 18720           | 0.00                   | 0                   |
|                                  |                            |   |              |             |                 | -                      |                     |
|                                  |                            | Design and produce CCEB UG brochure into individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features      | 20           | 2,600.00    | 52000           | 0.00                   | 0                   |
|                                  |                            | · ··· ··· ·· ··· ··· ··· ··· ···  | -            |             |                 |                        |                     |

| Awarded | Supplier              | Event - Lot Title   | Bid Quant    | tity Price (SGI | D) Total Bid (S | GD) Awarded Qu | antity (SGD) Awarded Spend (SGD) |
|---------|-----------------------|---|--------------|-----------------|-----------------|----------------|----------------------------------|
|         |                       | Design and produce SCSE UG brochure individual interactive PDFs with  |              |                 |                 |                |                                  |
| No      | PURE DESIGN PTE. LTD. | hotspots that link to URLs, videos, pop-up features   | 24           | 3,120.00        | 74880           | 0.00           | 0                                |
|         | TONE DEGIGN FILLEID.  | Print production for CEE UG brochure (20 Pages)   | 4000         | 3,880.00        | 15520000        | 0.00           | 0                                |
|         |                       | Print production for COE UG brochure (12 Pages)   | 4000         | 3,120.00        | 12480000        | 0.00           | 0                                |
|         |                       | Print production for MSE UG brochure (12 r ages)  | 4000         | 2,740.00        | 10960000        | 0.00           | 0                                |
|         |                       | Print production for MAE UG brochure (16 Pages)   | 4000         | 3,120.00        | 12480000        | 0.00           | 0                                |
|         |                       | Finit production for MAE OG brochdre (To Fages)   | 4000         | 3,120.00        | 12480000        | 0.00           | 0                                |
|         |                       | Design and produce MAE UG brochure individual interactive PDFs with   |              |                 |                 |                |                                  |
|         |                       | hotspots that link to URLs, videos, pop-up features   | 16           | 2,080.00        | 33280           | 0.00           | 0                                |
|         |                       | Print production for CCEB UG brochure (20 Pages)  | 4000         | 3,880.00        | 15520000        | 0.00           | 0                                |
|         |                       | Print production for SCSE UG brochure (24 Pages)  | 4000         | 4,180.00        | 16720000        | 0.00           | 0                                |
|         |                       | Option (At NTU's option to award): b. Printing cost for 4,000 copies of every   |              |                 |                 |                |                                  |
|         |                       | additional 4 pages per brochure.  | 7            | 6,440.00        | 45080           | 0.00           | 0                                |
|         |                       | Online (ALNITUR antion to supprive delivery of Oterly Income  | 00           | 000.00          | 1000            | 0.00           | 0                                |
|         |                       | Option (At NTU's option to award): d. Unit cost of Stock Image.   | 20           | 200.00          | 4000            | 0.00           | 0                                |
|         |                       | Design and produce CEE UG brochure individual interactive PDFs with   |              |                 |                 |                |                                  |
|         |                       | hotspots that link to URLs, videos, pop-up features   | 20           | 2,600.00        | 52000           | 0.00           | 0                                |
|         |                       | Option (At NTU's option to award): c. Printing cost for special finishing (Spot   |              |                 |                 |                |                                  |
|         |                       | UV or hot-stamping) on front cover for every 4,000 copies per brochure.   | 7            | 8,050.00        | 56350           | 0.00           | 0                                |
|         | 5stones Pte Ltd       |   |              |                 |                 |                |                                  |
|         |                       | Design and produce EEE UG brochure individual interactive PDFs with   |              |                 |                 |                |                                  |
|         |                       | hotspots that link to URLs, videos, pop-up features   | 12           | 150.00          | 1800            | 0.00           | 0                                |
|         |                       | Print production for EEE UG brochure (12 Pages)   | 4000         | 0.70            | 2800            | 0.00           | 0                                |
|         |                       | Finit production for EEE OG biochare (12 Fages)   | 4000         | 0.70            | 2000            | 0.00           | 0                                |
|         |                       | Option (At NTU's option to award): a. Design, layout, copywriting/editing cost  |              |                 |                 |                |                                  |
|         |                       | for every additional 4 pages per brochure.  | 7            | 250.00          | 1750            | 0.00           | 0                                |
|         |                       | Design and produce MSE UG brochure individual interactive PDFs with   |              |                 |                 |                |                                  |
|         |                       | hotspots that link to URLs, videos, pop-up features   | 8            | 150.00          | 1200            | 0.00           | 0                                |
|         |                       |   |              |                 |                 |                |                                  |
|         |                       | Design and produce CoE UG brochure in interactive PDF format with hotspots  |              |                 |                 |                |                                  |
|         |                       | with hotspots that links to URLs, videos, pop-up features.  | 12           | 150.00          | 1800            | 0.00           | 0                                |
|         |                       | Design and produce CCEB UG brochure into individual interactive PDFs with   |              |                 |                 |                |                                  |
|         |                       | hotspots that link to URLs, videos, pop-up features   | 20           | 150.00          | 3000            | 0.00           | 0                                |
|         |                       | Design and produce SOSE UC breakurs individual interactive DDE- with  |              |                 |                 |                |                                  |
|         |                       | Design and produce SCSE UG brochure individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features | 24           | 150.00          | 3600            | 0.00           | 0                                |
|         |                       | Print production for CEE UG brochure (20 Pages)   | 24<br>4000   | 0.85            | 3400            | 0.00           | 0                                |
|         |                       | Print production for CEE UG brochure (20 Pages)<br>Print production for COE UG brochure (12 Pages)                          | 4000<br>4000 | 0.85            | 3400<br>2800    | 0.00           | 0                                |
|         |                       | Print production for MSE UG brochure (08 Pages)   | 4000         | 0.60            | 2400            | 0.00           | 0                                |
|         |                       | Print production for MAE UG brochure (08 Pages)   | 4000         | 0.80            | 3200            | 0.00           | 0                                |
|         |                       | Find production for MAE OG brochare (To Fages)  | +000         | 0.60            | 3200            | 0.00           | 0                                |
|         |                       | Design and produce MAE UG brochure individual interactive PDFs with   |              |                 |                 |                |                                  |
|         |                       | hotspots that link to URLs, videos, pop-up features   | 16           | 150.00          | 2400            | 0.00           | 0                                |
|         |                       | Print production for CCEB UG brochure (20 Pages)  | 4000         | 0.85            | 3400            | 0.00           | 0                                |
|         |                       | Print production for SCSE UG brochure (24 Pages)  | 4000         | 0.90            | 3600            | 0.00           | 0                                |
|         |                       | Option (At NTU's option to award): b. Printing cost for 4,000 copies of every   |              |                 |                 |                |                                  |
|         |                       | additional 4 pages per brochure.  | 7            | 250.00          | 1750            | 0.00           | 0                                |
|         |                       | Option (At NTU's option to award): d. Unit cost of Stock Image.   | 20           | 10.00           | 200             | 0.00           | 0                                |
|         |                       |   |              |                 |                 |                |                                  |
|         |                       | Design and produce CEE UG brochure individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features  | 20           | 150.00          | 3000            | 0.00           | 0                                |
|         |                       | notopoto anaciana to orazo, videos, poproprodutos   | 20           | 100.00          | 0000            | 0.00           |                                  |
|         |                       |   |              |                 |                 |                |                                  |

| Awarded | Supplier              | Event - Lot Title  | Bid Quantit | y Price (SGD) | Total Bid (SGD) | Awarded Quantity (SG | D) Awarded Spend (SGD) |
|---------|-----------------------|--|-------------|---------------|-----------------|----------------------|------------------------|
|         |                       | Option (At NTU's option to award): c. Printing cost for special finishing (Spot  |             |               |                 |                      |                        |
| No      | 5stones Pte Ltd       | UV or hot-stamping) on front cover for every 4,000 copies per brochure.  | 7           | 200.00        | 1400            | 0.00                 | 0                      |
| 110     | Redbean De Pte Ltd    |  | ,           | 200.00        | 1400            | 0.00                 | 0                      |
|         |                       | Desire and seadows EEE UO has shown in this but interactive DDEs with  |             |               |                 |                      |                        |
|         |                       | Design and produce EEE UG brochure individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features       | 12          | 280.00        | 3360            | 0.00                 | 0                      |
|         |                       | Print production for EEE UG brochure (12 Pages)  | 4000        | 280.00        | 3840            | 0.00                 | 0                      |
|         |                       |  | 4000        | 0.30          | 5040            | 0.00                 | 0                      |
|         |                       | Option (At NTU's option to award): a. Design, layout, copywriting/editing cost   |             |               |                 |                      |                        |
|         |                       | for every additional 4 pages per brochure.   | 7           | 1,120.00      | 7840            | 0.00                 | 0                      |
|         |                       | Design and produce MSE UG brochure individual interactive PDFs with  |             |               |                 |                      |                        |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 8           | 280.00        | 2240            | 0.00                 | 0                      |
|         |                       | noispois that link to ORES, videos, pop-up leatures  | 0           | 280.00        | 2240            | 0.00                 | 0                      |
|         |                       | Design and produce CoE UG brochure in interactive PDF format with hotspots   |             |               |                 |                      |                        |
|         |                       | with hotspots that links to URLs, videos, pop-up features.   | 12          | 280.00        | 3360            | 0.00                 | 0                      |
|         |                       | Design and produce CCEP LIC brookurs into individual interactive DDE- with   |             |               |                 |                      |                        |
|         |                       | Design and produce CCEB UG brochure into individual interactive PDFs with<br>hotspots that link to URLs, videos, pop-up features | 20          | 280.00        | 5600            | 0.00                 | 0                      |
|         |                       | noispois that link to ORES, videos, pop-up leatures  | 20          | 260.00        | 5600            | 0.00                 | 0                      |
|         |                       | Design and produce SCSE UG brochure individual interactive PDFs with   |             |               |                 |                      |                        |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 24          | 280.00        | 6720            | 0.00                 | 0                      |
|         |                       | Print production for CEE UG brochure (20 Pages)  | 4000        | 1.12          | 4480            | 0.00                 | 0                      |
|         |                       | Print production for COE UG brochure (12 Pages)  | 4000        | 0.96          | 3840            | 0.00                 | 0                      |
|         |                       | Print production for MSE UG brochure (08 Pages)  | 4000        | 0.82          | 3280            | 0.00                 | 0                      |
|         |                       | Print production for MAE UG brochure (16 Pages)  | 4000        | 1.10          | 4400            | 0.00                 | 0                      |
|         |                       | Design and produce MAE UG brochure individual interactive PDFs with  |             |               |                 |                      |                        |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 16          | 280.00        | 4480            | 0.00                 | 0                      |
|         |                       | Print production for CCEB UG brochure (20 Pages)   | 4000        | 1.12          | 4480            | 0.00                 | 0                      |
|         |                       | Print production for SCSE UG brochure (24 Pages)   | 4000        | 1.26          | 5040            | 0.00                 | 0                      |
|         |                       |  |             |               |                 |                      |                        |
|         |                       | Option (At NTU's option to award): b. Printing cost for 4,000 copies of every<br>additional 4 pages per brochure.                | 7           | 600.00        | 4200            | 0.00                 | 0                      |
|         |                       | additional 4 pages per brochure.   | ,           | 000.00        | 4200            | 0.00                 | 0                      |
|         |                       | Option (At NTU's option to award): d. Unit cost of Stock Image.  | 20          | 100.00        | 2000            | 0.00                 | 0                      |
|         |                       |  |             |               |                 |                      |                        |
|         |                       | Design and produce CEE UG brochure individual interactive PDFs with  | 00          | 000.00        | 5000            | 0.00                 | 2                      |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 20          | 280.00        | 5600            | 0.00                 | 0                      |
|         |                       | Option (At NTU's option to award): c. Printing cost for special finishing (Spot  |             |               |                 |                      |                        |
|         |                       | UV or hot-stamping) on front cover for every 4,000 copies per brochure.  | 7           | 800.00        | 5600            | 0.00                 | 0                      |
|         | Sixmoredays Pte. Ltd. |  |             |               |                 |                      |                        |
|         |                       | Design and produce EEE UG brochure individual interactive PDFs with  |             |               |                 |                      |                        |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 12          | 80.00         | 960             | 0.00                 | 0                      |
|         |                       | Print production for EEE UG brochure (12 Pages)  | 4000        | 0.69          | 2760            | 0.00                 | 0                      |
|         |                       | · · · · · · · · · · · · · · · · · · ·  |             |               |                 |                      |                        |
|         |                       | Option (At NTU's option to award): a. Design, layout, copywriting/editing cost   |             |               |                 |                      |                        |
|         |                       | for every additional 4 pages per brochure.   | 7           | 360.00        | 2520            | 0.00                 | 0                      |
|         |                       | Design and produce MSE UG brochure individual interactive PDFs with  |             |               |                 |                      |                        |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 8           | 80.00         | 640             | 0.00                 | 0                      |
|         |                       | ····· ································   | -           |               |                 |                      | -                      |
|         |                       | Design and produce CoE UG brochure in interactive PDF format with hotspots   |             |               |                 |                      |                        |
|         |                       | with hotspots that links to URLs, videos, pop-up features.   | 12          | 80.00         | 960             | 0.00                 | 0                      |
|         |                       | Desire and an data OOED HO basels of the line of the CEED with   |             |               |                 |                      |                        |
|         |                       | Design and produce CCEB UG brochure into individual interactive PDFs with  |             |               |                 |                      |                        |
|         |                       | hotspots that link to URLs, videos, pop-up features  | 20          | 80.00         | 1600            | 0.00                 | 0                      |

| Awarded | Supplier              | Event - Lot Title   | Bid Quantity | Price (SGD) | Total Bid (SGD) | Awarded Quantity (SGD) | Awarded Spend (SGD) |
|---------|-----------------------|---|--------------|-------------|-----------------|------------------------|---------------------|
|         |                       |   |              |             |                 |                        |                     |
|         |                       | Design and produce SCSE UG brochure individual interactive PDFs with            |              |             |                 |                        |                     |
| No      | Sixmoredays Pte. Ltd. | hotspots that link to URLs, videos, pop-up features                             | 24           | 80.00       | 1920            | 0.00                   | 0                   |
|         |                       | Print production for CEE UG brochure (20 Pages)                                 | 4000         | 1.02        | 4080            | 0.00                   | 0                   |
|         |                       | Print production for COE UG brochure (12 Pages)                                 | 4000         | 0.69        | 2760            | 0.00                   | 0                   |
|         |                       | Print production for MSE UG brochure (08 Pages)                                 | 4000         | 0.57        | 2280            | 0.00                   | 0                   |
|         |                       | Print production for MAE UG brochure (16 Pages)                                 | 4000         | 0.95        | 3800            | 0.00                   | 0                   |
|         |                       | Design and produce MAE UG brochure individual interactive PDFs with             |              |             |                 |                        |                     |
|         |                       | hotspots that link to URLs, videos, pop-up features                             | 16           | 80.00       | 1280            | 0.00                   | 0                   |
|         |                       | Print production for CCEB UG brochure (20 Pages)                                | 4000         | 1.02        | 4080            | 0.00                   | 0                   |
|         |                       | Print production for SCSE UG brochure (24 Pages)                                | 4000         | 1.32        | 5280            | 0.00                   | 0                   |
|         |                       | Option (At NTU's option to award): b. Printing cost for 4,000 copies of every   |              |             |                 |                        |                     |
|         |                       | additional 4 pages per brochure.  | 7            | 287.50      | 2012.5          | 0.00                   | 0                   |
|         |                       | Option (At NTU's option to award): d. Unit cost of Stock Image.                 | 20           | 40.00       | 800             | 0.00                   | 0                   |
|         |                       |   |              |             |                 |                        |                     |
|         |                       | Design and produce CEE UG brochure individual interactive PDFs with             |              |             |                 |                        |                     |
|         |                       | hotspots that link to URLs, videos, pop-up features                             | 20           | 80.00       | 1600            | 0.00                   | 0                   |
|         |                       | Option (At NTU's option to award): c. Printing cost for special finishing (Spot |              |             |                 |                        |                     |
|         |                       | UV or hot-stamping) on front cover for every 4,000 copies per brochure.         | 7            | 460.00      | 3220            | 0.00                   | 0                   |